
Fact	Sheet	–	ANOVA	(13.1)	

This test is used to test for the equality of 3 or more population means. 

 

Example: The mean number of hours spent studying each week is the same for freshmen, 

sophomores, juniors, and seniors. 

Conditions 

To perform this test, the following two conditions must be met. 

• The data in each independent sample come from populations that are each normally 

distributed. (You can construct all the QQ plots in StatCrunch at the same time.) 

• The largest sample standard deviation is no more than twice the smallest sample 

standard deviation. (You can check this by computing all the sample standard deviations 

in StatCrunch at the same time. Stat > Summary Stats > Columns) 

Hypothesis Test 

Step 1  

You must identify each population - #1, #2, #3, …  

The null hypothesis will be 
1 2 3

µ µ µ= = =� .  

H1 will always be “At least one mean is different than the others.” 

 

Step 3 

The test statistic is calculated by comparing the variance within each sample to the variance 

between the samples. If the sample means have greater dispersion than the values within each 

sample, this indicates that the population means are not all equal to each other. 

 

Just write “ANOVA”, rather than writing the test statistic. 

 

Step 4 

To compute the test statistic and P-value using StatCrunch … 

 

Enter the data, one sample per column. 

Stat > ANOVA > One Way 

Select the columns containing the sample data.  

Click Calculate. 

 


